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_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
=LIPE oL 651,483 599,635 51,848
= 189,569
= 60,392
7 401,522
HASS MBOHY N (AMISX/IZHELET) 651,483 509,635 51,848
= 189,569
= 60,392
= 401,522
o2 Z0A (AT Z0II2 SEaIH) 651,483 599,635 51,848
= 189,569
= 60,392
= 401,522
BT YREX AIZHIH| 13,000 11,000 2,000
= 13,000
201 Yer2oy| 6,500 5,500 1,000
= 6,500
01 At222/H| 6,500 5,500 1,000
OGHI B E A 6,500
— et g 5,200,000 5,200
< 5,200
-2d+y 1,300,000 1,300
< 1,300
202 01t 6,500 5,500 1,000
= 6,500
01 20t 6,500 5,500 1,000
OZHI B F A 6,500
—o|ZZ0iAtE RIS XIZOl 3,705,008 3,705
= 3,705
—el BIYVER NE 2,730,000 2,730
= 2,730
—Z 30 ATHAEA 65,0008 65
= 65
o220 H2Z0HIS XY 181,280 176,500 4,780
= 145,024
= 36,256
307 ©12H0I ™ 181,280 176,500 4,780
= 145,024
= 36,256
01 ol2w 2| 181,280 176,500 4,780
O=HI B E A 181,280
—o230s230iH S N
181,280,000 181,280
= 145,024
= 36,256
o ZZ0IHISX 2 457,203 412,135 45,068
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_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2

= 44, 545
[ 11,136
2 401,522

101 2124t 55,681 26,220 29,461
= 44,545
[ 11,136

04 JIAM2RIESS 55,681 26,220 29,461
O3B XAl 55,681
—o 220 A2 Z2IAF Q18 55,681,000 55,681
= 44,545
[ 11,136

308 XHXIEHHISOIH 401,522 385,915 15,607

05 KHXICHHIZIRE 2 401,522 385,915 15,607
OczZ0iTEY 2L 397,506, 0002 397,506

0220 ALMERNY 23

4,016,000 4,016




